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C SCIENCE )
SECTION-A SECTION-A
Matter can neither be created nor be destroyed. | 1. gedd 49 3 [Qrua usd el 21 [Q4re €9 Hud]
It is called the law of conservation of mass. Fay @ 6.
Reaction of carboxylic acid with alochol in 2. sl Buls Alusel seslela wd-l 6glus-
presence of acid catalyst forms ester. . N
s1o?14i qadl Hluy k.
Mutation
: 3. [asla
Alveoli
True 4.  qysiyl gl
False 5. ULy
False 6. wig
Gallium 7. g
(B) Dispersion 8. alauu
A 9. (B) Qcuo+
B 10. 1
Silicon 11. 2
Voltmeter 12. s
1) Methane(CH .
(1) ( .“) 13.  qlezdle?
(2) Carbondioxide (CO,) J5
14. (1) /e (CH
Pulmonary circulation moves blood between @ (CHy
the heart and the lungs.... The oxygenated (2) siefisialsuieds (CO,)
blood then flows back to the heart. Systemic | 15, sreld uRas4i (A2 &gd ¥ F5ui 924 auld 52
circulation moves blood between the heart and £ i 2By Y5 2[R G4 A5 Wieg 21d 9. ElRs
the rest of the body. It sends oxygenated blood wPRasui 202 884 w1 9dle 929 Al 53 & Fui
out to cells and returns deoxygenated blood to N AN v A A N
the heart HUEH %1 YFd 2[ER 24U YA €9 11 ued] 2150 %1
[al8+ >[92 ecd™i yieg 2 €9.
Archaeopteryx s
Soil pH is important because it influences 16.  sulsaled
serveral soil factors affecting plant grow such | 17. %%l #pH 4ecq &, 5129 5 pH 21 w4l-t- [As1271
as (1) Soil bacteria (2) nutrient leaching (3) YR 52l 3CA(S AU YRAUA 5 ¥ 93l (A5
Nutrient availability (4) Toxic elements and (5) w2 w33 & g 3, (1) wHlqui :8a a5y (2)
Soil structure orslleteti YNl (3) Wl sacdld] 1ol (4) 3 )
Copper is used to make not water tanks and not (5) It GiaRe 493 2R 52 6.
steel this is because the iron (in steel) is more N . C N A A A
. . . 18. 5183, ... dlvis (2layi ¥ 8¢ slu) 2 5142 5l
reactive than then copper also it react with not e . . .
steam to produce ferrosoferric oxide Y w3 ely ©. alvis A quq ud A 53U
Achievement of Mendelleev's periodic table : selaleles wisuds qwud .
19.  43eflsti 2u1adsiesl Rilgil :-

(1) Mendellev kept some blank spaces in the
periodic table for the elements that were yet
to be discovered eg. Eka aluminium, eka
born

(1) 43ells d aMAMi 5edis @ vid] AL sdl.
3 o4« alyidal deal [ »uousl 530 sdl.
El.d. s AY[AlaaM, 2151 62U
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(2) He also predicted properties of some
elements which were get to be discoverd

eg. The properties of eka aluminium
predicted by Mendellev and those of
element galium were almost the same

(3) When noble gases were discovered, they
could be placed in a new group without
disturbing the order.

OR

Atomic radii in a period moving from left to
right. Atomic size gradully decreases from left
to right across a period of elements. This is
because, within a period or family of elements,
all electrons are added to the same shell.

Food Chain Food web

It refers to a natural
system by which

It consists of a number
of nterconnected food

energy is transmitted chains.

from one organism to

another

Member of higher Member of higher

trophic level feed upon
a single type of
organism

trophic level feed upon
many organisms

It does not have any

effect on improving the  [the adaptability and
adaptability and competitiveness of the
competitiveness of the organism.

organism.

Food webs improves

Example- Carrots —>
rabbit --> snake -->
eagle

Example- A hawk might
also eat a mouse, a
squirrel, a frog or some
other animal. The

snake may eat a beetle,
a caterpillar, or some
other animal. And so

on for all the other
animals in the food

cham.

OR

Gas exchange in plants is dominated by the
roles of carbon dioxide, oxygen and water
vapor. CO, is the only carbon source for
autotrophic growth by photosynthesis, and

(2) a8l « ulden dedl 49l (A9 21oud] 57

sdl.

El.d. U3clls YAy 5 Hs1 AyAaM 5 %+ alyide
acd &g detl y9aHl dAH 418 AHIA Sdl.

(3) w42 [Ssu quy-ll it 4 dl d-i HieS 2eoidl]
ddl Y AE 3 Pl $HM[ F512 4 UlY.

¥l s1eflel] w4l
gelsl i 9.

YAl
dRs ol YHIBY [P1raiHi

5190 5, 2udd™i sioflel] a8l drs Fdl 49l GHRUA
A5l AMI Sl g1 Al 9.

oilen 1999 d25 A A D).

20.
16 1RY V4L LGSR N
A 315 5e2dl daL B sl A BUGIR guial»ll 422+
Alsd [ Glods s uoa xl  |wlidR sdddl B,

G2 22l UXLL DS ov
U512l AAL U2 9 9.

Gadzei [aas usizal
UL U2 9 8.

A »oodldl vq5(addl 214
UM 5AL HIMHIRLAL
YHIRIHL 5195 w14 calad <4l

A wogdledl vigs[H5dl via
U [HSALHE YHIRIMT AH IR
5289,

BLIGRLL AeR —> UAg —>
A —> Holy

Gelgil : Hawk %t

Gerel, vilusidla, 2esid vied
wie YLollwila wist vy 8,
AU 2 Al L, 2id el
il usL vy £, vid
Bie Y[l e BUGIRL

siuigl Gla 8,

2yl

arteylaxilui gl 2uy d CO,, O, 24 H,0 -l
o™y g1 (>l qud €.

CO, 2 45 ¥ 516(-1 22ld & ¥ HS1UH AN G132
24yl qlg e yUselrR €.

[ ]




21.

22.

23.

24.

25.

ALLEN

CAREER INSTITUTE
KOTA (RAJASTHAN

BOARD EXAM/CLASS -X/SCIENCE/2020

when a plant is actively photosynthesising in
the light, it will be taking up carbon dioxide,
and losing water vapor and oxygen. At night,
plants respire, and gas exchange partly
reverses: water vapor is still lost (but to a smaller
extent), but oxygen is now taken up and carbon
dioxide released.Plant gas exchange occurs
mostly through the leaves. Gases diffuse into
and out of the intercellular spaces within the
leaf through pores called stomata, which are
typically found on the lower surface of the leaf.

The process of development of a new species
by evolution or by any genetic modification of
the existing species in a population is called as
speciation. Factors that lead to speciation
include genetic drift, natural selection,
geographical isolation, mutation.

SECTION-B

Uses of spherical mirror :

(a) Rear view mirror of car

(b) Security mirror/headlight of car

Because :

(a) It has high melting point.

(b) It has high resistance as compare to pure
metal.

OR

(a) A parallel circuit has two or more paths for
current to flow through.

(b) Voltage is the same across each component
of the parallel circuit.

Properties of magnetic field lines of a bar

magnet :

(a) The filed lines start with the north pole of
the magnet and ends at the south pole of the
very same.

(b) The closer the field lines will be the stronger
will be the magnetic field.

The menstrual cycle occurs due to the rise and
fall of hormones. This cycle results in the
thickening of the lining of the uterus, and the
growth of an egg, (which is required for
pregnancy). ... If pregnancy does not occur, the
lining is released in leads to bleeding what is
known as menstruation.

21.

22.

23.

24.

25.

w12 iyl Al3Y Jad usiu A=A 52 €9 AR d
#l54 dld CO, d &9 2171 O, »+ H,0 45d 52 8.
A2 Qe 2qe 52 &9 Ayl v2eased] ulaad]
oy €9 WISl oML €9 U3 Y& HIAMI A €9 YRg
2ci12 O, A4 €9 214 CO, Y5d a1y €.
iyl Aecioigel] Yracd usl gL ALy €.
iyl Uy WSl 2iaRSINIY Hasi¥iel] qyHl
IRl A1Y 9 5 % Yvdced wel] 4] aul] ue lal
ua &,
FR ARl sald qadlHl Gglasiy gl Ayal
51648 wllls 3uidrcnl 51281 ci <1<l 2l (A5
Al 58 ©.
s oldlRael e ssi
- oell-ls (Qucn
- s&xcdl el
- Fqofloilds x1edflsw
- [asld

SECTION-B
Ul w11 GyAll -
(@) $1R4( Y1e90 lal HiSHl 4]
(b) 5121 Esaugse
Because :
(a) It has high melting point.

(b) It has high resistance as compare to pure
metal.

DT

(@) ALHdR FA9H [Qgaudls-l ded HiS o 2l
qy 4ol €ld 9.

(b) AMidR HHI €25 el €931 42 [Agalala™ i+
AMI SlY 69,

Uy Yoisl Yoisla & vl casllsal. ... ..

(a) &2t vl Grr Yauidll 159 &9 21 g&llor gaHi
i Y4 .

(b) &2t vzl F2el w5 sld dM Yoslddl 4oa
sl

HASAS c:oudlA] Q48] 5180 dld €.

d acifaydl Baia-d] nse s »ssiu-dl qled
YR €9 5 ¥ eyt Hie %33 6.

% UG 1 Al cdl 2ig A [Baiel geatdl] (AR 214
qly &9 dl ¥ HiRsAS 56 8.
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Structure-stomata

The following are the importances of stomata

for a plant:-

(1) They help in gaseous exchange i.e gaining
of carbon dioxide for photosynthesis and
gaining of oxygen for respiration.

(i) They help in the regulation of water loss
from the plant.
(a) 4 Na + Oz(g) —> NaZO(S)
Oxidised substance - Na
Reduced substance - O
(b) CuO(S) +H,—> Cu(s)
Oxidised substance - H

2

+ HZO( o

2
Reduced substance - CuO

(c) 2PbO(S) + C(S) —_— 2Pb(s) + CO
Oxidised substance - C
Reduced substance - PbO

(a) Difference between metals and non metals

2(g)

on the basis of chemical properties :-

Metals Non-Metals

(1

Metals are electro- | Non-Metals are electro-
positive negative

)

Non-Metals react with
oxygen to form neutral
or acidic oxides
C+0,—- CO,

Metals react with
oxygen to form
basic oxides

4Na + O, = 2Na,O

3)

Non-Metals do not react
with dilute acid and
they can not displace
hydrogen

Metals react with
dilute acids to form
salt and H,

* xmer
X Y
E ¥
4.'9%'!§:§Zifi;7«"
Girl ! ! Boy
XX XY
Yl
6{4(R8L - d1Y34
qeld 1S aIyHg Hecd -
() d atg2ll 21y 440 Hee 3 &9 ¥4 35,...
Usig2qNE 42 CO, dal ¥ 29+ 412 O,
ddl.
(i) d qulaniel] aci el 6o [R4=lld 52
&9.
27. (a)4 }\Ia(sl + Oz(g) r—) NazO(s)
HEH3u7 ueld - Na
Rssa+t yeie - O,
(b) Cl\JO(S)\+ H, —r) Cu(s) + HQO(g)
2ll5339-1 veld - H,
Rssa+ ugis - CuO
(&) 2PbO,, + C —> 2P + COy,
Hll5u391 yerd - C
Rssu+ yeie - PbO
28. (a)
Hld, Y14
- . w4 1d [AZdreia i
Hid [421d 2aHa €l 8. N

9.

vt el 2iL[5usve H18]
s 1] dezy »iyal
BURA[5s 215158 ot B,
C+0,— CO,

Hldeil 2[5 00 H12dl
ulsail oiles »ii5153 o
8. 4Na + O, — 2Na,0

vt |dedl He D[4 12
ulsat udl 4zl »1a H
(2211 ud <4l

Hidell He 2[us n1dl

NN

ulsaiel ek 24 Hy wa .
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(b) Explanation : Aluminium is highly reactive
metal, yet it is used to make utensils for

cooking.

This is because aluminium reacts with
oxygen pesent in air to form a thin layer of
aluminium oxide. This oxide layer is very
stable prevents further reaction of
aluminium with oxygen. Also it is light in

weight and good conductor of heat
OR

(a) One way to prevent or slow, corrosion is by
coating the metal. Coating prevents water
and oxygen from contacting the metal.
Paint or other coatings will slow corrosion,
but they are not effective once scratched.
Zinc plated or galvanised iron exploits the
fact that zinc is more likely to oxidize than

iron.
SECTION-C

Variations- Variation, in biology, any difference
between cells, individual organisms, or groups
of organisms of any species caused either by
genetic differences (genotypic variation) or by
the effect of environmental factors on the
expression of the genetic potentials (phenotypic

variation).

Somatic variations are the variations in the
somatic cells of an organism which may be
acquired by them in their life and are not passed
on to their progenies. germinal variations are
the variations in the germ cells of an organism

and are passed on to their progenies.
(a) T1-T2-T3
25000-2500-250

(b) 1. Skin cancer 2. Premature aging and other
skin damage. 3. Eye damage such as
cataract problems. 4.Damage or weak the

immune system.

29.

30.

(b) 5128 5, ... AyAlqyx i el HIBE4%+
e ulzar 5304 eyl zlsqa183q Uiay
2R olvilq €9,

i AISALSST 2198 qY 2] €14 &9, 5 ¥ qY

51+l Aey(Alaa4 1Al ulFHiA 2125149

8.

A 414l 4S €ld &9 i G¥HIg Yalss sld €.
w1l

(a) lvisy &1RElL 2esiqdl 24l HIY $al M1 dril
YR HIg R AU 419 €9, Yig YR AR
aouqalell dg a1 20 Wl A1l dus
e8] N4 L.

Ylg YR Ydre 2edl Ay ELUHS HIdRY
qoqalel] dlvisg e »es 9, 4ig 2l 4y
HARSIRS G 14,

alvls Yz 4lg a?ls zn o 2149 Hdl
OledellsSAlor i sl &1R%L HH25 €9, $181 3
zn 4y Al34 slawel] dg 2Ba3u 29 walR
alvisyg sllsa3au 29 &l

SECTION-C

FAs el 2(eulEa yr yalqely 512504 2142
28ql wflells [Micil g1 S1Y 21 SN 924 2edl
AW A1 AW 42 2184l Gl i 4¥ld 922 Hlal
HoAl QeI (4l 5E €9,

885 [l - 3 % AaH( E[85 SN 21 &9 3
¥ GUUFd $AUH[ 219 €9 2 AURALOUI 4]

aelldls [B1eicdl - 3 ¥ ADAIHI F~it SINIHI 219 €9,
5% QRRAIIUA €9,

(a) T1-T2-T3
25000-2500-250

(b) 1. cqlg 5742
2. 4gcd i 4 Q1Y 52l
3. ivild gsAi1 ¥4 5 HldlAl
4.0 ulasis d2t- g5l

o
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Pollen tube

Antipodal

Polar nuclei

Egg cell

Synergid

Stamens- A stamen is the male part of a flower,
and together all stamens form the inner third
whorl of a flower structure called the
androecium. Each stamen comprises a long
tubular filament with a sac called the anther at
the top. Pollen grains contain male reproductive
cells or male gametes and are produced in
anthers; each anther contains many pollen
grains.
Carpels
Carpels are the female part of a flower that
form the innermost whorl of a flower structure
called the gynoecium. Each carpel has a
swollen sac-like base called the ovary, which
contains female reproductive cells called
ovules. ovules contain egg cells.

OR
Physiology of excretion-
The first stage in clearing the blood is filtration,
the passage of a liquid through a filter to remove
impurities. Filtration occurs in the glomeruli.
Blood pressure forces plasma, the liquid portion
of the blood, through the capillary walls in the
glomerulus.
The fluid, now called filtrate, collects in the
capsule and enters the renal tubule. During
reabsorption, needed substances in the filtrate
travel back into the bloodstream. Reabsorption
occurs in the renal tubules. There, glucose and
other nutrients, water, and essential ions
materials pass out of the renal tubules and enter
the surrounding capillaries.
Tubular secretion is the passage of certain
substances out of the capillaries directly into
the renal tubules. Tubular secretion is another
way of getting waste materials into the urine.

®
L 4

31.

Pollen tube

Antipodal
Polar nuclei

Egg cell

Synergid

Y342 -

- Yyl 12 G169,

- o4l ¥ Y$AR Lo HUl Ysueg Ay A oi1d &9, ¥
Y545 56 8.

- €25 Y5AR YUY <5 25 sladl] Bl Al 21
a-l wd lasiiy dg sld ©.

- YRUIARY i Uit 51N UGl 4R%Y 4RUd 8. d
YRUULAYH( Gt Ay €.

- €35 YuouAY 8l YRRy 4R1d .

2A134R -
- Yoyst] HIEL G119L 89 3 % Alell vigRe U5 9. Bl wll3R
Y5 59 69.

- €35 flsaR W s1900 Fll A1 9 ¥ lnauy 58
€9, 5 % HMIEL UU~ivivl SIY YU £9. ¥+l %5 56 ©9.
- 2L ¥iss ¥issln YA €.
DL
Gl Estul¥s [Ful -
1. Ha¥ dossl (820099 &9 5 4 Has] glrl 21yl
g2 $Ral4i »ud ©.
oUNL D[GR5[AsL 2y294[ ALY €9.
(828101 (A Yz €618 AR €9 5 el 2421l HUus]
@119, 2[AR5[51+] [Eaterxial] 2[A23(251 9y294i 21114
8.
2. mdel Halld uag s 9 5 ¥ df a4 yaAulus
tldsiyi uqal 6.
cd1R0le YA gAlele Y ulv Y &9 ¥ 44U
w33did QLo 4esl Y2841 499 €9
yeololle ye:alus yaAlUs «l@sii ay .
g 5105 1l A YN 5 UgLal, Wl 2l 119945 21+l
yalUs wlasiniel] 464 d Y3855 ay &.
3. dlasimi wuaq ¥ sedis gesld (A2 slasimidl Hly
o Yol l@simi 2ud 2 6.
A e 419( €9 il giL Getof ueiell'y 3aHi 14l Lol
el €.
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When object placed between F; & optical
centre O.

Al
2F B F oF,
Position : Behind the object (same side of
object)

Nature : Virtual and erect
Size : Enlarged
OR

Image isformed on a screen i.e. real image. So,
concave mirror forms real image.

Given : u = ? (object distance)

v = -5m (image distance)

-V
Magnification, m = —
u

m = — 5 [Enlarge, real image]
-V
= -5=—
u
= v =135u
Y
=>u-= 5
:>u=§ =u=1m

(b) Object placed 1 m from the mirror
(c¢) Concave mirror
Given, R| = 15Q, R, = 30Q

R,
—
I
i ©;

32.

33.

IR axgi F| 1 us19l4 O l a2d sl »ud

N

&.

Ul qrgell ey (dg ¥ Y YR €9 d GUY)
USIR ¢ AIMUN] 2 AY
ylRM : [Qatld

24l

U6 (R YR 214 &9 (Ao 3 qradls ulalio
ol 2[RH) Arddls ulalsior 29 9.

ue u =7 (dg ¥dv)
v = =5m (Ulaloier i)

. -V
Yleqell, m = —
u

m = — 5 [[Qatld azadls ulalsis]

-V
= 5= —
= v =>5u

v
=u= 5

é 1
:>u—5 =u=1m

(b) azg¥l R4l 1 m g2 &.
(c) ol 21l
ae], R, = 150, R, = 30Q
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(a) R, & R, are in parallel.

1. 1.1 11,1
S R "R, R, TR, 15 30
12+l 1.3

~ R, 30 ~ R, 30

Rp = 10Q2 — Total resistance of circuit
(b) Total current of the circuit

\Y
According to ohm's law : V=IR = I = ®

6
=I= 10 =1=0.6A
(c) Electric cument passing through the 30Q
resistor we know that potential difference
is same in parallel circuit

So,V=LR=1I, = % =02A
[L,=02A

The demand of energy is increased due to the
industrialisation all over the world. Their
energy demands are fulfilled by energy
obtained from fossil fuels: The burning of fossil
fuels causes air pollution and releases large
amount of carbon dioxide which results in
global warming.

Steps to Reduce Your Energy Consumption
Shutdown your computer. Computers are some
of the biggest energy users in office buildings.
Choose the right light. LED bulbs are the most
energy efficient lighting option.

Eliminate vampire power: unplug idle

electronics.
Use a power strip to reduce your plug load.
Turn off the lights.

Reaction of sadium carbonate with dilute
hydrochloric acid :

Na,CO,,, + 2HCl,,,—> 2NaCl , + H,0 , + CO, (g)

Sodium
carbonate acid

Carbon
dioxide

Hydrochloric Sodium

chloride

Water

(a) R, 2171 R, A#idR4i &9.

R = 10Q — ulRyari ga 2414
(b) ulRual s¢ Hals

o) Y V
Ul Ry 44wl V=R = 1= R

6
=1I= 0 =1=0.6A

(c) 30Q 2iqrlyHiel] IR ddl [Agdudls : 4148l
Al 2 5 AMdR At [Aga Relayi-
AMI Y 6.

6
So.V=LR=1=7,=02A
L=02A
34, gl zilallPise-i 5129 Glod+ll 33041d a4l .

21 w33041d 206111 d2ldlamuiel] Yo saqiui
1] 26l 9.

2[5 Uelellyni snaiel] Ay HgUL ALY &9
Wl UMM S16(4314I5A1ES AUALRDUH] 45 53
el odloid i1 A €.

d
&

Glod~1 GualorAd 1le9r sl GUIdl -

1. si2eR ot Avil, 51915, 2HUEd i 4514 519eR
Glod=il Hlewmi #lel Gudlol sal €.

2. 419y Y519+l Gulol 521, LED ofeor 21 Guylofl [Qsey

N

&.

3. wqrel g2 Gudlol gasdl. 74 5 Sdsils argil i
WL 5181 val.

4. ol ¢RYIM leg sal UdR Zunil GuHloL sRdl.
5. aden ¢t sdl.

35.  All3uy sieilqed] He s1ggisalls AUR[s el ulzy:
Na,CO,, + 2HCl,,,— 2NaCl,, + HO, + CO,T(g)

3(s) (aq) aq)

Sodium Hydrochloric Sodium Water Carbon
carbonate  acid chloride dioxide
All3ay  e1dlsaldls All3yH el $16(+
si1e AR el Ll sA1ES
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Reaction of sodium hydrogen carbonate with
dilute hydrochloric acid

NaHCO, , + HCl,, —> NaCl + H,0 + CO,
Sodium Hydrochloric Sodium

hydragen acid chloride

carbonate

(b) Reaction of carbon dioxide and calcium
hydroxide forms calcium carbonate and water.

CO,, + Ca(OH),,, —> CaCO,, + H,0,
Carbon Calcium Calcium Water
dioxide hydroxide carbonate

CaCO, + CO, + H,O —— Ca(HCO,),
CaCO, is insoluble in water and it forms
precipitate.
Ca(HCO,), is soluble in water.

OR
Proparation of baking soda :-
Backing soda is also known as sodium
bicabonate or sodium hydrogen carbonate. Its

requires the sodium chloride, ammonia gas
(catalyst, water and carbon dioxide) as raw

material.
NaCl, + H,O, + CO,, + NH,,, — NaHCO,,+ NH.Cl 4
Sodium water  Carbon  Ammonia Sodium hydrogen Ammonium
chloride dioxide carbonate chloride

Use of Baking soda
(1) Reduce the acidity in the stomach

(2) Acts as an antacid which is used to treat
stomach upset and indigestion

(3) Used in the process of washing as a water
softner.

36. Functional group :-

Functional groups are specific substituents or
bonds within molecules that are responsible for
the characteriestics chemical reations of those
molecules.

Two functional groups :-
(1) -COOH - Carboxylic acid
(2) —CHO - Aldehyde
(3) —OH - Alcohol
0]

I
(4) —C- - Ketone
Example :-
(1) CH,CH,COOH - Propanaic acid

Y

A4 18319 s1ol-de] He s18315a10s 2/
18+l ulsu:

NaHCO3(s) + HCl(aq) —— NaCl + HzO + CO2
A4y stglsaldls ENIRTEY

Sl AR sAlAYs

sieilAe

(b) 2Rayy s13lsaesl si6(q stulsaies didl
Y

ulEA g 3aay si6ile 21 Yiwll 619,
COz(g) + Ca(OH)z(aq) — CaCO,, + H,0,,

Carbon Calcium Calcium Water
dioxide hydroxide carbonate
$16{ 3leayy 3leaun well
SLALSALES SLgglsaLes s160lqe

ay ugmi CO, YR 5,
CaCO, + CO, + H,0 —> Ca(HCO,),
3udM s1831%1 s101e
CaCO, wsllHi »t514 ¢l4 &9
Ca(HCO,), wsil+i sicd sly ¢9.
DT
A 314131+ ei-iqe -

o [Zoulsid ALSUH slidsionl e sedl Hl3YH
SLE3F~ s16lee U9 sEq1d €.

All34H s3] AHURAL, 51604 SIALSAHIES 24
el 8l ulsal g1z1 G390 A3t o419,

NaCl, + H,O, + CO,, + NH,;, — NaHCO,_,+NHCI g

2

Sholdiqan water  Carbon  Ammonia Sodium hydrogen Ammonium
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(2) HCOOH - Methanoic acid
(3) HCHO - Methanal

(4) CH,CHO - Ethanal

(5) CH,0OH - Methanol

(6) CH,CH,OH - Ethanol

0]
(7) CH, - g — CH,- Propanone
0]
(8) CH;—-C - CH, - CH,- Butanone

The various steps of nutrition in human beings
are as follows:

Ingestion: In human beings, food is ingested
through the mouth. The food is put into the
mouth with the help of hands.

Digestion: The digestion of food begins in the
mouth itself. The teeth cut the food into small
pieces, chew and grind it. (Physical digestion)
The salivary glands in our mouth produce
saliva (watery liquid) which contains an
enzyme salivary amylase which digests the
starch (carbohydrate) present in the food into
sugar. (Chemical digestion) Our tongue helps
in mixing this saliva with food. The digestion
of food remains incomplete in mouth.
Oesophagus: The slightly digested food in the
mouth is swallowed by the tongue and goes
down the food pipe called oesophagus. When
the slightly digested food enters the food pipe,
the walls of food pipe start contraction and
expansion movements called as peristaltic
movement. This peristaltic movement of food
pipe pushes the slightly digested into the
stomach.

Stomach: The stomach is a J-shaped organ
present on the left side of the abdomen. The
stomach walls contain s three tubular glands in
it walls which secrete gastric juice. The gastric
juice contains three substances: Hydrochloric
acid, the enzyme pepsin and mucus. The
hydrochloric creates an acidic medium which
facilitates the action of the enzyme pepsin i.e.
digestion of protein. The mucus helps to protect
the stomach wall from its own secretions of
hydrochloric acid. The partially digested food
then goes from the stomach into the small
intestine.
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Small intestine: From the stomach, the partially
digested food enters the small intestine.The
small intestine is the largest part (about 6.5m)
of the alimentary canal.The small intestine is
very narrow and arranged in the form of a coil
in our belly.The small intestine in human
beings is the site of complete digestion of food
(like carbohydrates, proteins and fats) The small
intestine receives the secretion of two glands:
Liver and Pancreas. Liver secretes bile
(greenish yellow liquid made in the liver and
stored in gall bladder). Bile performs two
functions: Makes the acidic food coming from
the stomach alkaline so that pancreatic enzymes
can act on it. Bile salts break the fats present
in the food into small globules making it easy
for the enzymes to act and digest them. The
pancreas secretes pancreatic juice which
contains enzymes like pancreatic amylase for
breaking down starch, trypsin for digesting
proteins and lipase for breaking down
emulsified fats. The walls of the small intestine
contain glands which secretes intestinal juice.
The enzymes present in it finally convert the
proteins 1into amino acids, complex
carbohydrates into glucose and fats into fatty
acids and glycerol. In this way the process of
digestion converts the large and insoluble food
molecules into small water soluble molecules.

Absorption: The small intestine is the main
region for the absorption of digested food. The
inner surface of the small intestine has
numerous finger-like projections called villi
which increase the surface area for rapid
absorption of digested food. The digested food
which is absorbed through the walls of the small
intestine goes into our blood.

Assimilation: The blood carries digested and
dissolved food to all the parts of the body where
it becomes assimilated as part of the cells and
is utilised for obtaining energy, building up new
tissues and the repair of old tissues.

Egestion: The unabsorbed food is sent into the
large intestine where more villi absorb water
from this material. The rest of the material is
removed from the body via the anus. The exit
of this waste material is regulated by the anal
sphincter.
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Dispersion of white light :

Splitting of white light into its 7 colours
(VIBGYOR) after passing through the glass
prism or raindrops is called dispersion of white
light.

Formation of rainbow :

Rainbow is caused by dispersion of sunlight by
tiny water droplet's hanging in the atmosphere
after a rain shower.

The water droplets acts like a small prism.

The water droples refract & disperse the
incident sunglight. These ray are then reflected
internally & finally refracted again & comesout
of the rain drop.

Due to the dispersion & internal reflection of
light different colour reach the observer's eye
& rainbow is seen.

Sunlight
un;g Raindrop

Red

Observer iolet

Overloading :-
If more electrical appliances of high power
rating are connected is single socket causes
overloding. Draw an excessive amount of
current from the circuit is called overloading.
Three factors which can cause overloading are:
(a) When the live wire and the nutral wire come
in to direct contact.
(b) Accidental hike in the supply voltage.
(c) By connecting too many appliances to a
single socket.
Precautions should be taken to avoiding the
overloading :
(a) A fuse of appropriate rating should be used
in the ciruit.
(b) Too many appliances should never be
connected to a single socket.
(c) Faulty appliances should not be connected
in the circuit.
OR
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PQRS — Coil
A & B — Metallic brushes
C & D — Split ring/commutator

Principle: A current carrying conductor
experiences a force when placed in a magnetic
field.

Working: When a current is allowed to flow
through the coil PQRS the coil starts rotating
anti-clockwise. This happens because a
downward force acts on length PQ and at the
same time, an upward force acts on length RS.
As a result, the coil rotates anti-clockwise.

Current in the length PQ flows from P to Q and
the magnetic field acts from left to right, normal
to length PQ. Therefore, according to Fleming's
left hand rule, a downward force acts on the
length PQ. Similarly at an upward force acts on
the length RS. These two forces cause the coil
to rotate anti-clockwise.

When coil complete half rotation, the position
of PQ and RS interchange. The half-ring D
comes in contact with brush A and half-ring C
comes in contact with brush B. therefore the
direction of current in the coil PQRS gets
reversed. Now the current flows through the
coil in the direction SRQP.

The direction of current through the coil PQRS
reverse after every half rotation. As a result, the
coil rotates in same direction. The split rings
help to reverse the direction of current in the
circuit. These are called the commutator.
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